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Name No.:

PRAGATHI EDUCATIONAL INSTITUTIONS
EASY TEST               (28.04.2015)            (SGT )                AVANIGADDA  Ph : 08671-272474


 
 


 
 

           


   
 

   


 
 


   

National Institution for Nutrition  
    

  
 

   


   


 
 


 
  


 
 


 
 


 
 


 
 


 
 


 
 


   


   


 
 


 
 


 
 


 
 
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
 


 








 
  








 
 


   


 
 


 
 


 
 


 
 


  
 




 
 

      


   


 
 


 
 


   


 
 


 
 


  


   


 
 


 


  


   


   


   
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
   


 
 


 
 


 
 


   


   


  


 


  
 


 
 

     






 


   


 
 


 
 


  




   

 


        


    



       



   


 
 


  


 

XCIV 
   




 
 

     3

2
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10









q
p 

   
n = 4 

444

234 nnn
 

   


 
 



4




   
 50.488.2  

   



   

‘C’ CS 





 


100

2100


(100S) /C (100S) / 100

100(C-S) / C 
9a2-k+4b2 k 

6ab  ab12 -12ab 12ab





   
 RPSQP   080RPQ  RPS

   


   

(3x+5)  (4x-6) = 12x2 + 2x + y y =

   
S = 2  r (r+h) 

S = 220 r = 3.5 h = .............

   
P   S  P + 1 = 0 


 
 




   


 
 

(3x + 20)0, (5x-40)0 
 

 


   


   

C 
C2/2 C/ C2/4 C2/16 2


   

(x+4)2 + (x+2)2 = ................

2x2+12x+20 2x2+8x+16 2x2+4x+4 None


 
 

       


   


 
 




   
       


 
 




    
       


 
 




   


 
 
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
 
 


   


   


  


   


   


 
 


   

       


 
 


   


  


   


   


 
 


 


 
 


 
 


 
 


   


   


   


 
 


 

125. Choose the article for “I eat ...... banana”
1. a 2. an 3. the 4. none

126. Identify the suitable preposition for .........
Iam suffering ......... fever
1. of 2. from 3. one 4. with

127. Identify the suitable verb (Tense) form for
The sun ....... in the east
1. Rise 2. Rose 3. Rises 4. Rison

128. Identify the parts of speech for underlined part
Ravi is a tall boy

1. Noun 2. Verb 3. Adjervb 4. Adjective
129. The underlined clause in, “If it rains, we stay

indoor’’ is
1. principle clause 2. main clause
3. independent clause 4. subordinate clause

130. The underlined phrase in “we enjoy playing
cricket” is

1. noun phrase 2. adverb phrase
3. adjective phrase 4. none

131. Identify the parts of speech for the following .
He loves music
1. noun 2. verb 3. adjective 4. adverb

132. “Inspite of his hard work he failed” is a
1. simple sentence 2. compound sentence
3. complex sentence 4. all

133. You work hard or you will fail
Choose the ‘if clause’ for the above sentence.
1. If you work hard, you will fail
2. If you work hard you would fail
3. If you work hard, you will not fail 4. None
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134. He is poor ......... he is honest
Choose the word to fill in the blank
1. and 2. or 3. but 4. nor

135. “He finished his exercises and put away his books”
is a

1. simple sentence 2. compound sentence
3. complex sentence 4. none

136. Choose the correct tense (verb) form for the
following

I ........ a movice yesterday
1. watch 2. watches
3. have watched 4. watched

137. “If you work hard; you will not fail’’ is a
1. simple sentence 2. compound sentence
3. complex sentence 4. none

138. Choose the suitable indirect speech for ........
She said, “Iam unwell”
1. she said that I was unwell
2. she said that Iam unwell
3. she said that she was well
4. she said that she was unwell

139. She likes bananas.
Choose suitable voice for the above sentence
1. Bananas are liked by her
2. Banana is liked by her
3. Bananas are liked by she
4. Bananas were liked by her

140. “She is as strong as He.”
Choose the suitable comparative
1. He is stronger than she
2. He is not stronger than she
3. She is not stronger than he
4. All

141. The letter to a friend is a/an
1. formal letter 2. informal letter
3. both 1 & 2 4. none

142. Choose the suitable opposite for “Friend”
1. enemy 2. dued 3. classmate  4. neighbour

143. Choose the suitable Question Tag for........
She is a girl, ..........?
1. is she 2. is he 3. isn’t she 4. do she

144. Subject+Verb+Object
Choose suitable sentence that fits into the above

structure
1. She plays in a gardan 2. Ravi sits in the carner
3. They run in a ground 4. Roopa likes bananas

145. You must cut down your expenditure.
Choose the suitable meaning for underlined idiom.
1. reduce 2. meet 3. run 4. eat

146. Identify the suitable queston form for .........
“Iam thirty years old.
1. How are old you? 2. How old are you?
3. How you are old? 4. How you old are?

147. Choose the incorrect (wrong) sentence
1. Bread and butter is his only food
2. The novelist and poet is dead
3. Honour and glory is his reward
4. The Rise and fall of the tide are due to lunar

influence
148. Father: Are you going to school ?

  Son:.......................
Choose the suitable response
1. Yes, Iam not 2. No, Iam
3. Yes, Iam 4. None

149-153. Read the following passage
The Emperor gave the men a lot of money. “Starting

weaving at once”, he told them. They set up two
looms and pretended to be very busy, though they had
nothing at all on the looms. They asked for the finest
silk and the purest gold thread. They put these in their
own bags, and they worked at the empty looms until
late at night.

Answer the following questions
149. What did the emperor give for emperors?

1. Two looms 2. A lot of money
3. Pure gold 4. Pure silver

150. Who pretended to be very busy ?
1. weavers 2. emperor 3. people   4. ministers

151. Weavers asked for ........
1. Pure gold 2. Bags 3. Fine silk 4. looms

152. How many looms were there ?
1. 4 2. 5 3. 3 4. 2

153. Radio is a/an
1. Audio aid 2. Visual aid
3. Audio-visual aid 4. none

154. Role-Play is a/an
1. method 2. technique
3. approach 4. all

155. The teacher teaches English language only in
English in

1. Grammar translation method
2. Direct method
3. Reading method
4. Bilingual method

156. Which of the following is a guide to the teacher?
1. News paper 2. Head master
3. Text book 4. none

157. TOEFL is a/an
1. Evaluation 2. Examination
3. Measurment 4. Test

158. Choose the correct order of language skills.
1. Listening speaking reading writing
2. Speaking reading writing listening
3. Reading writing speaking listening
4. Writing listening reading speaking
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159. The full form of CCE
1. Confuse Comprehensive Evaluation
2. Continuous Complicate Evaluation
3. Continuous comprehensive Evaluation
4. Confuse Complicate Examination


   


   


   




   


   


   




 


 


   


 
 




 
FA4 

   


 
 


 
 


  
 


O.B.B NCERT

MHRD SCERT


       



 
 

(Sliptest)


A+ A B+ B




   
 


 
 




 
 

   
     


   

All the Best



Q.No Ans Q.No Ans Q.No Ans Q.No Ans
1 3 46 1 91 3 136 4
2 1 47 4 92 1 137 3
3 3 48 2 93 1 138 4
4 2 49 1 94 2 139 1
5 3 50 1 95 1 140 2
6 3 51 3 96 2 141 2
7 1 52 4 97 2 142 1
8 4 53 4 98 4 143 3
9 2 54 3 99 1 144 4

10 4 55 1 100 2 145 1
11 3 56 3 101 1 146 2
12 1 57 1 102 2 147 4
13 4 58 3 103 2 148 3
14 1 59 4 104 2 149 2
15 3 60 4 105 2 150 1
16 1 61 1 106 2 151 3
17 1 62 1 107 3 152 4
18 3 63 4 108 3 153 1
19 1 64 3 109 2 154 2
20 1 65 4 110 2 155 2
21 4 66 3 111 1 156 3
22 1 67 4 112 3 157 4
23 2 68 1 113 4 158 1
24 3 69 2 114 3 159 3
25 2 70 1 115 1 160 2
26 4 71 3 116 3 161 3
27 4 72 2 117 1 162 3
28 1 73 3 118 1 163 3
29 2 74 2 119 2 164 4
30 2 75 1 120 4 165 1
31 3 76 2 121 3 166 1
32 4 77 3 122 1 167 2
33 1 78 4 123 2 168 1
34 1 79 2 124 3 169 4
35 2 80 3 125 1 170 3
36 1 81 3 126 2 171 2
37 2 82 2 127 3 172 1
38 2 83 2 128 4 173 4
39 1 84 3 129 4 174 3
40 1 85 2 130 1 175 2
41 1 86 3 131 2 176 2
42 2 87 2 132 1 177 3
43 3 88 1 133 3 178 4
44 1 89 2 134 3 179 1
45 4 90 3 135 2 180 1

SGT ANSWER SHEET
EASY  TEST.  (28.04.2015)


